L. 40 points

The gears attached 1o the steel shaft and the splined end
at B are subjected w the torques shown. The shaft is
fixed at A. Assume that the shear modulus of ehistichy i
0 GiPa and the shait has a diumerer of 12 mm:

Gio w Dewermine the angle of nwist of twist of end B relative
wend A, '
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12+ Determine the maximum shear stress i the shaft e
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& Draw shear stress distribution on the cross section of the shai.
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(11 Continued). For the previous figure:

75+ Find the moment of et sbout the hprontal nesiral sxls
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1L [20 points]

+ Deawve the expréion for i3 xhg.&mmmmmn.mmgnumm
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